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M tigs J 6-10 8.5-90.1 8.9 =
HEE (mgh) 100 <20-27 21.4 =
BRI A E  (mg/) 10 <2.0-3.0 2.5 =
MY E (mg/l) 2000 520 - 1300 765 =
WAL 4 E  (mg/) 10 <0.5 <0.5 =
FALYEEE (mg/) 0.1 <0.04 -0.080 0.048 =
BT EREEE (mg) 100 <15-20 16.8 =
HHE  (mg/) 20 <10 <10 =
M&dE (mg/) 0.5 <0.3 <0.3 =
Rer R E (mg/) 1 <0.6 - 0.68 0.62 =
FEE MR (mg/) 15 <7 <7 =
EEFHRE (mg) 2000 150 - 330 215 =
BHIRE (mg) 200 13- 37 25 =
g (0) 43 30-33 31.6 =
IR Y=Y EOEHER | B ELLTS [ BEHE DL =
FEESB

i (mg/) 2 <0.4 <0.4 =
#5 (mg/l) 5 <1 <1 =
8 (mgfl) 0.1 <0.1 <0.1 =
¥ (mg/l) 1 <0.3 <0.3 =
i (mg/l) 2 <05-14 0.94 =
25 (mg/l) 2 <1 <1 =
#m (mg/l) 5 <0.2 <0.2 =
7K (mg/l) 0.05 <0.05 <0.05 =
77 (mg/l) 2 <1 <1 =
IR (mg/) 2 <0.4 <0.4 =
% (mg/l) 5 <1 <1 =
¥ (mg/l) 2 <1 <1 =
EaeBEEHS (mg) 10 <1.0-79 7.4 p=s
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B (mg/) 5 1.2-28 2.0 s
#  (mg/l) 10 <2 < =
e &k
Aldrin (mg/l) 0.01 <0.01 <0.01 =
BHCS (mg/l) 0.01 <0.01 <0.01 =
AR LT (mgl) 0.01 <0.01 <0.01 s
FEZELEEY -
AEE (mg/l) 0.1 <0.06 <0.06 =
EEMiEeyw
1,1,1- = & 2 5% (mg/) 0.05 <0.025 <0.025 s
ZEPEE
% & K 48 & (mg/) 0.003 <0.003 <0.003 s
BHMEYE :
B EBEME & (pc/l) 10000 <10000 <10000 s
#%-226 (pc/l) 30 <30 <30 =
#8-90 (pc/l) 100 <100 <100 s
# FESBEEEE W 7 88 8% 8 8 - 8 52~ BR -
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gk (mg/m’) 30 0.0 - 1.0 0.7 s
“EAEF (mg/m’) 200 02 - 1273 6.6 s
EAf%E (mg/m’) 60 03 - 12.5 2.3 s
#E (mg/m) 4 0.0 - 0.1 0.0 s
A=)
(L - & 1B & 5 &) 400 54.1 - 256.1 103.6 pss
(mg/m’)
YA IR (mg/m)) 20 0.0 - 3.0 0.1 e
— &AL i% (mg/m’) 100 0.5 - 77.6 7.1 e
() HigE?
ik (mg/m’) 10 0.5 - 0.8 0.7 e
&AL (mg/m’) 50 2.0 - 18.2 6.4 e
BifE (mg/m’) 10 13 - 34 2.3 e
HALE (mg/m) 1 0.00 - 0.00 0.00 e
A1y
(L= &1L & 51 &) 200 85.8 - 125.6 103.8 =
(mg/m’)
YA (mg/m’) 10 0.01 - 0.15 0.08 s
— & BB (mg/m’) 50 34 - 132 7.0 s
() HAt
AKEEEY
(LMER &2 H) 24 2.7 2.7 yss
(mg/m’)
AEFBLEY
(AR ETE) 18.8 <13 <13 yss
(mg/m’)
?iﬁn 3() Bl Bt 5) 375 13 13 =
Bhsa g (CUBEETED) (mg/m) 5.5 <0.18 <0.18 yss
A FCGRAEE (me/m)) 5 <1.6 <1.6 =
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EaeBE—8"Y
BB —H) I
e AL 0.05 <0.009 <0.009 =
= (mg/m)
EEsBE_E) Y
M (mg/m’) 0.06 <0.002 <0.002 &
% 8 (55 )
AEDRE =N 0.5 <0.070 <0.070 =
= (mg/m)
& (mg/m’) 0.05 <0.002 <0.002 &
T (ng/m) 0.075 0.022 0.022 e
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B i 1 (7K) (Hjiﬁ B 0105 124 2
)

EEE S (%) |0 (H;ﬁﬁﬁ 63-93 744 =
%)

EBLE

#% (ppm) 0.5 <0.5 <0.5 o

7K (ppm) 0.1 <0.02 <0.02 ye3

A E (ppm) 10 <0.5 <0.5 o

#1  (ppm) <0.5-44 1.6 -

# (ppm) <0.5 <0.5 -

5t (ppm) <1.0-11.0 1.8 -

¥ (ppm) <0.5-1.0 0.5 -

56 82 - g%~ BRI .

W8 (ppm) 25 <2.5-13.0 473 T

# (ppm) 20 <1 <1 it

ALY (ppm) 10 <5 <5 =

RS (ppm) 10 <2.0-2.2 2.0 =

#FAEY (ppm) 5 <5 <5 yoea

B

= g% 4 PN

?j%’x B EY & 5000 <15 <15 =

= (ppm)

B KK EHEE ~

(ppm) 10 <5 <5 =

f1E KX ¥ & .

(ppm) 2 <2 <2 =

% &2 (ppm) 1 <1 <1 =

TCDD (ITEF %) -

(ppb) 1 <1 <1 =
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